Ratio to ATLAS

d?o/dm,dly__| [pb/GeV]

=
o
[6,]

=
o
S

=
o
w

=
o
N

=
o

1072

1073

[EEY

0.5

7000 GeV pp

Jets

-~ m ATLAS

~  — Pythia 6.428 350

= -4~ Pythia 6.428 351 m

—  _.¥- Pythia 6.428 352 ]
| A Pythia 6.428 353 il
= o Pythia 6.428 354 T3
~ - Pythia 6.428 355 .
1 Pythia 6.428 356 =
= Pythia 6.428 357 s
- Pythia 6.428 358 -
—— =~ Pythia 6.428 359 —=
= | | | | | LS
- v 1
- Beei . ’E.J‘ 1
: S z

Rivet 3.1.10, = 2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


